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NES-101 : UNDERSTANDING THE 
ELEMENTARY SCHOOL CHILD 

Time : 3 hours 	 Maximum Weightage : 70% 

Note : All questions are compulsory. All questions carry equal 
weightage. 

1. Answer the following question in about 
1000 words : 
You have to organize a guidance programme in 
a school. List the activities that you would do in 
arranging such a programme. Briefly discuss each 
activity planned by you. Add a brief note on 
mobilisation of resources for organizing this 
guidance programme. 

OR 
Explain the need and importance of 
understanding problems of children. List the 
various problems associated with physical and 
health needs of children. What is the significance 
of providing a conducive environment to the child 
in the context of home-school relations. Discuss. 

2. Answer the following question in about 
1000 words : 
What is the basic purpose of studying 
development in children ? Discuss various 
principles of development in children. 

OR 
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Describe the patterns of socio-emotional and 
moral development in children. Discuss the role 
of teachers and parents in promoting a balanced 
development in children. 

3. 	Answer any four of the following questions in 
about 250 words each : 
(a) List out various problems arising due to non-

fulfilment of social and emotional needs of 
children. 

(b) Write a short note on human development. 
(c) Describe the different types of guidance 

services. 
(d) Discuss the role of genetic factors that 

influence development. 
(e) Explain the major events occurring in the 

pre-operational stage of a child. 
(f) How do physical and motor development 

affect the personality and social adjustment 
of a child ? 
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